

Beat the Clock (- to 3) Time: \_\_\_\_\_ 

$3 - 3 =$

$1 - 1 =$

$2 - 0 =$

$2 - 2 =$

$1 - 0 =$

$3 - 1 =$

$1 - 1 =$

$3 - 0 =$

$2 - 2 =$

$0 - 0 =$

20

$2 - 0$

$3 - 3 =$

$3 - 0 =$

$2 - 1 =$

$3 - 2 =$


$3 - 2 =$

$3 - 1 =$

$1 - 0 =$

$0 - 0 =$

$2 - 1 =$

Beat the Clock (- to 3) Time: \_\_\_\_\_ 

$2 - 1 =$

$1 - 1 =$

$2 - 0 =$

$3 - 3 =$

$2 - 1 =$

$3 - 0 =$

$3 - 3 =$

$2 - 2 =$

$3 - 0 =$

$3 - 1 =$

$1 - 0 =$

$3 - 2 =$

$3 - 3 =$

$3 - 1 =$

$2 - 2 =$

$1 - 1 =$

$2 - 0 =$

$1 - 0 =$

$0 - 0 =$

$3 - 2 =$

20